bl =l

ARG RS

K S e
(=6)" V1= 7 (-8)=

oY —10= (1) = (-10) =

5= (-3) = (~4)— (-7) =

(8)—(-7)= (—6)— 4=

DV +(=7) = 3 -3=

70 —(=5) = (2> +10=

(3= (9= (~4) D 4=

6> +4= 22 4 (—1) =

6 +2= 1002 — 5=

(-2)° - 8= (-10)7V + (=8) =
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N E S ORI
kA BE:iE ! G
7 1
O -I=() =12 7-(-8) =15
] 89 3
IV =10=(—5)= (%) (—1)* = (~10) = 11
5% —(-3)=128 (—4)—(-7)=3
() === (=6)—4=(-10)
D)V +(=7) = (-8) 32 -3=6
] 246 1
T = (5)="75 =5 (-2)* +10= 14
3D gy = 28 _ g2 BN RN
BV -9=F =85 (A 4=()=(4p
6> +4 = 40 22 +(-1)=3
] 499 99
6> +2 =38 107 =5 = (~350) = 419
] 81 1
(-2)* 8= (-4) (1070 +(8) = () = (-85
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